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Read a storg 9 ( Are you my mum?}
Little Justin 5
No, I'm not your mum.
Q Your mum has big eyes
and she catches ﬁies
—

Little Justin has four legs now. He sees a turtle. She has four legs
and a big mouth.

It is spring. Little Justin is born in a river. He is small and black.

4]
e
No, I'm not your mum.
Your mum has four legs
and a big mouth. 3
{ Yes, I'm your
{_ mum!
Now Little Justin is green. He has no tail. He sees a frog. Her
eyes are big. She is catching a fly.
Think and say
Now he has a tail. He sees a fish. She has a tail too How does Little Justin grow?
First — Next — Then —= Finally
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T: Little Justin was an egg. But now he is a tadpole. How was he? And
how is he now?

S1: He was small. But now he is big.

T: Yes. The size is different. What else is different?

S2: He has a tail now.

T: You are right. What else is different?

S3: He has two eyes now.

T: Good. Little Justin looks different now. Can you find more
differences?

S4: He can swim very fast now.

T: Exactly. A tadpole can swim, but an egg can’t.

TEFF TR IA) R 5 | PR R, AR B bR S 2 dr e 7145 BA
BROKRE . REZEEH, ZUNEREWAATEMERE: “How
was he? And how is he now?” , 5|55 LU T R ON -5 /)N i) 7 A 7R
EZESR . d g AR, AR GETR H Little Justin {428 34 K
11721k o

R UbEE, ZOMEERDSE H S B A “ What else is
different?” . MEREZF R L o0, (RfEF4E MNIPURHE. A BEHLRESE
ANFE RS g 5 2 MABYEE AR, AT
A PR, BERE AW 3R T AL A, I E B AR 8 Oy 1 2 7 R

M AT /MR EHG BE R, #hs T IR
—PIRE. Bia, H— RN ERIAREE MBI, TRIR1E AU
AT UG, SR ORI A2 T ) 5 2 A4k, ZUm AT PR
W], WORIREIRTT . Mhz8 DDl 22 A R A o0 . /N st b5
T BN 5T 58 18 A A A 5 X 5 2

i IRANEE, —ZARTF RE. HUARETIEIRI—
— NPT AN ST —— 5 &K T YRR,
& 5l i AR LR R B, ks 5380 5K 2 2 M EIR
FU 5 AR 1 ARAME S R

B BRI, RIEMEZER, et

X 5

W, Little Justin BRIAGFNRESE, T 4E 2 A B A 1) A L
. BN, IREZIE CARLRAGERLATEEHE. Fit,
UMVt 7 PR . “Why does Little Justin think the fish is his




mum?” , EEIFEERARALA LS. T 2R 8 2EES
REJJEORE R, HUMER R It 8, did i fsms, 513
A T I T RSOR P A

T: Why does Little Justin think the fish is his mum?

T: Little Justin can swim fast. What about the fish?

Ss: She can swim fast too.

T: Clever. Little Justin can swim fast, so he thinks his mum can swim
fast too.

S1: Little Justin has a tail. And the fish has a tail too.

T: You look very carefully. They both have tails. What else?

S2: Little Justin has two eyes. And the fish has two eyes too.

T: OK. They both have two eyes. What’s your opinion?

S3: Can I speak Chinese?

T: Yes.

S4: Because Little Justin 1R & 2R G4 .

T: Little Justin is worried. Do you agree?

S5: Yes. Because he can’t find his mother.

T: Right. Maybe he is too worried. So he asks everyone in the river.
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Before reading

T: Today we are going to read a new story “ Little Justin”. What do you

know about this story?

S1: It’s about a frog.

S2: The frog wants to find his mother.

T: Do you know the Chinese name of this story?

Ss: (/NEFIEARIBIGL) .

T: Do you have any questions about this story?

T: For example, I want to know who helps Little Justin find his mother.
(Write down the questions)

S3: Why can’t Little Justin find his mother?

S4: Where is Little Justin’s mother?

S5: What does Little Justin eat?

S6: What can Little Justin do?

T: Those are some really good questions. Now let’s start reading.

After reading

T: (Point at the questions) Now can you answer these questions?

T: We still don’t know what tadpoles eat. Maybe you can use the

computer to find the answer after class.
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T: Little Justin and the fish are like each other. But the fish is not his
mum. How does he feel now?

S1: I think he is sad.

T: Why is he sad?

S1: Because he wants his mum.

T: Do you agree?

Ss: Yes./No.

T: What’s your opinion?

S2: I think Little Justin is happy.

T: Why?

S2: Because he knows his mum has four legs and a big mouth now.

T: Do you agree?

Ss: Yes.

T: Well. Maybe Little Justin is sad. Maybe he is happy. And maybe he
is...?

S3: Maybe he is tired. Because he swims and swims.

T: How about you?

S4: I think he is hungry. Because he doesn’t have food.
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